= AH O
M = 0l &8 AF 2 ZH A A
20108 20A LB H  JIEIEHS Y RDEHFD ~ DNEHF
EA: nS:HHY
HH: Hsus s4X
Sl 222H MEXL (e dS)
_ _ boE ==
2N -3 - c2(3H) - NEME - HES Ol &F2H @;OH Hns
nEd 3,314,602 8,284,736 N4,970,134
< 96,887
Al 3,217,715
thsus s8X 3,175,681 8,158,445 N4,982,764
< 96,887
Al 3,078,794
S4M HEXA 910,584 2,154,648 A 1,244,064
< 23,057
Al 887,527
=2 L HA WEXS 607,000 1,616,741 A 1,009,741
202 04| 2,000 2,000 0
01 20| 2,000 2,000 0
OIS L NUSK2AIAIEH NS of
HI 2,000,000 2,000
203 LR =& 5,000 4,000 1,000
03 AMZZ=XA2FZXIY| 5,000 4,000 1,000
Qussidy AIMF=IILFXHl 5,000,000 5,000
307 GI2t0IH 600,000 1,610,741 A 1,010,741
09 2LHHEXS 600,000 1,610,741 21,010,741
O2+giH ®IIIEX 600,000,000 600,000
AMUHHA HEX R (RHHESS) 246,239 233,420 12,819
308 XX SHHSOIA 246,239 233,420 12,819
05 KXIESH2AREH2 246,239 233,420 12,819
OAMUHA THE X 246,239,000 246,239
HAESo &2ABA & 7,263 11,109 N3,846
308 AXIHAMSOIH 7,263 0 7,263
05 XXSHHMZESS 7,263 0 7,263
OFAESO EAEN UXHHREYS
7,263,0002 7,263
HEBARSRII SdLFE 400 400 0
< 250
Al 150
307 QI2t0IA 400 400 0
< 250
Al 150
02 QI2tFAB X 400 400 0
OWAHASHMIAA X 400,000& 400
< 250
Al 150
S HAMAAH 23| 6,191 7,380 A1,189
308 XXISHHSOIA 6,191 7,380 A1,189




SN DEHFD
F: zns s4X
el 24Xl MEX (el m
SN HB SR (BIH) - A - B S 0l &b S D=2
S - Ct 2| SAY - BHES &k, O] Ak oH ree
05 XAXEHMZ2tEES 6,191 7,380 A 1,189
OSESTAANAE 2,22/l 4,779,000 4,779
QuSIHE FAA2IAIAE L 1,412,000& 1,412
MIZEHA SN 7,000 0 7,000
307 G12+0lH 7,000 0 7,000
09 2HAHAEBXE3 7,000 0 7,000
O2=g9H IAMISHEX &XX
7,000,000& 7,000
SEEHE SEA 36,491 0 36,491
< 22,807
Al 13,684
307 212t01& 36,491 0 36,491
= 22,807
Al 13,684
09 2HAHEX= 36,491 0 36,491
OSEEHESEA 36,491,000& 36,491
& 22,807
Al 13,684
nsetd HE A 1,012,000 4,285,000 23,273,000
WEANEE RNE= 283,000 403,000 A120,000
201 B3| 258,000 200,000 58,000
02 =234l 258,000 200,000 58,000
Ousdss 8IIR3 & LEDEEE SHes
160,000, 000& 160,000
Ols RHEE R0t =Xl
83,000,000& 83,000
OQuEdEHH HUlR A 12,000,000& 12,000
OQusSA&EsE RAEs & NESHEXE FAlL]
3,000, 000& 3,000
207 HIHEHI 20,000 20,000 0
01 A= SH| 20,000 20,000 0
OXNSEHA ESH 22X 20,000,000& 20,000
401 A &HIYL 2048 5,000 160,000 A 155,000
01 Al&Hl 5,000 160,000 A 155,000
OR"2HI AtR4 BIJtE 3AF 5,000,000& 5,000
WSHHAIEES Ul & &5 699,000 654,000 45,000
401 AlEHIZ 2 699,000 654,000 45,000
01 Al&HI 695,000 650,000 45,000
Oones dsII(8) sX2el 80,000,000& 80,000
OQusHEXE Y S2BALE S22
50,000,000& 50,000




SN DEHFD
F: zns s4X
CHel: WEE AL (el m
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
OHASZE & HAEZXNE |2l
30,000,000& 30,000
OLd HA(KE MEA) SR
200,000, 000& 200,000
Otlls St Jtilet &XI 55,000,000 55,000
ORSNSII(S) L BEWE ASZY AL
X 2 el 100,000, 000& 100,000
OusEXH & JIE nESetdAldE &X &
22| 80,000,000& 80,000
OHASZE & 2UAIE &X 100,000,000 100,000
03 Al£ =204l 4,000 4,000 0
OusetdAldE ZHl & &= 4,000,000& 4,000
WEAL OlsEHo & 30,000 0 30,000
307 QI12t0l & 30,000 0 30,000
02 ItAAE X 30,000 0 30,000
Oussht Ol=sS8uSAE 2EHM ZdlX
& 30,000,000& 30,000
WSt EE 2= 755,598 1,368,038 A612,440
= 73,830
| A 681,768
+=Cd SERIA SsEe)|2E8 4= 591,568 456,038 135,530
308 XX HHSOIA 591,568 456,038 135,530
05 MXEHM2ARES 591,568 456,038 135,530
O+ZASHQIMS ST B 43
591,568,000& 591,568
WSoHME FHAAZ KA 164,030 214,000 249,970
= 73,830
Al 90,200
401 Al&HI LS04I 164,030 214,000 249,970
L= 73,830
Al 90,200
01 Al&H| 164,030 214,000 249,970
ORSOHA HOANH SHUMEX
164,030,000& 164,030
= 73,830
Al 90,200
EUFIXN NCSHS(=UNZAMSSESIA) 179,922 191,812 A 11,890
SY=EX RUEESNHe 2Y 13,200 33,200 20,000
201 Ler2d] 13,200 33,200 20,000
02 3224l 13,200 33,200 220,000
OSYHFEXFZ A 22 Z I
100,000& «1200 & 1,200
O=YFEUIRUHEI S 7R E |
1,000,000& x 1270 & 12,000
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SA DSUID
U (SRS SHXE
Bl BUFEA NS (FUIAYSESIH) (el a2
SN - B S(3) - HRAY - BAS P e HlmE 2
EXSNEXNE X 5,000 5,000 0
401 Al&HI2=0HH| 5,000 5,000 0
01 Al&H] 5,000 5,000 0
OFBASNEXT HH & 5,000,008 5,000
FYASL BHSRDE S 13,270 13,270 0
101 0124t 13,270 13,270 0
VIEENEES TS 3,270 13,270 0
OFISHIN 2| 92y 13,270
123 33,4002 *12 %2802 9,352
-FEag 33,4002 #1% x52% 1,737
~HUZ Al 80,0002+ 12 » 124 B 960
-S| 60,0002+ 1% * 124 B 720
~HANRBEINSY 33,4002 * 12§ #152 501
SHFIH NCSHSNE 143, 152 135,042 8,110
101 01 24| 66,350 79,620 A13,270
04 JIAHIEZXS 24 66,350 79,620 A 13,270
OZYY NYAEXE 22lQuolRY 26,540
s 33,4002 *2% %2802 18,704
-FEag 33,4009 2% #52F 3.474
- Z Al 80,0002 2% * 124 B 1,920
-S| 60,0002 %22 #1294 2 1,440
~HARSBEINSY 33,4002 2% * 152 1,002
OSoE =3t SEea e 39,810
e 33,4002 +3% %2802 28,056
e 33,4002 3% #52F 5,211
- Z Al 80,0002 3% * 124 B 2,830
S ECES 60,0002 +32 #1294 2 2,160
~HARSEINLY 33,4002 %3% * 152 1,503
201 Y2 et] 72,802 52,422 20,380
01 ARl 21,000 20,000 1,000
OFFASEZA 1,000,002 1,000
OFBASEAT =) 150, 0002 102 %231 3,000
OABHA L S22 ME 1,500,000 43! 6,000
OMMHH +42 1,000, 0002 1,000
02 BB 51,802 32,422 9,380
ORAEIINER 46,2002 +504 * 124 B 2,772
OSH&SAYXY NS 100,002 <204 200
SRS L LE! 250,000% *2CH 500
OzgeE23 2,000, 0008 120 2 24,000




S DS D
Yo Z1E SN
ool EHENN NCHS(ZENFALSLIIH) (eel: &
SA B G(E) - NEAY - B O & o4 e HREZ
OFFA2IZZ2IBRNS4
630,0009! %1204 & 7,560
OFIXAAMHZHIRXES 1,200,000 1,200
ORFEIIRX 22| 490, 0008 490
OS&=ELEIL RN I 3,000,000 *2CH 6,000
OJtMEtEME RNl 6,000,0008 *1CH 6,000
OJIMIEME NSEEE 600,000 * 1CH 600
OJNMRHETHE RZUSIHA  500,0008 1CH 500
OJNMSGAEHE [ KNS
330,0002! *67H 2 1,980
202 01| 3,000 3,000 0
01 =UH0iI 3,000 3,000 0
OSYFIT NS0t 3,000,000% 3,000
405 HaHE S 1,000 0 1,000
01 HAYLSEHSH| 1,000 0 1,000
ODXA ZRH 7Y 1,000,000 1,000
ARSR e 5,300 5,300 0
201 Y2y 5,300 5,300 0
02 2=l 5,300 5,300 0
OAQURSH THSIAl 120,000% * 1CH 120
OAUNSXHEER 180,000 * 1CH 180
OIS KR HI 5,000,000 *1CH 5,000
=XE RNV (EAFALSEIIH) 297,577 138,047 158,630
TYEXY fAB2 164,420 131,420 33,000
201 e ] 164,420 131,420 33,000
01 At 2l 45,520 12,520 33,000
OFIIHHBAUB S22 330,002 1204 2 3,960
OFIIGHHEBHZUAA +42  500,0008+13] 500
OYstBel B 222 330,000 <120 & 3,960
022X =] 150, 0002 %72 23| 2,100
OMBEXIZXF 22 ZHIYR 2,000,000 2,000
OAMBEFXNE AXE 33,000, 00084 33,000
02 T2l 118,900 118,900 0
oOFIIQZ 50,000,000 50,000
O+E83 1,250,002 %12 2 15,000
OBZIIRN 22| 200, 0009 *2CH * 1204 2 4,800
OB & Bt R X 2 44| 6,000,000% 6,000
OFIINE ST L 2] 8,000,000% 8,000
OZBZYRX 24| 7,000,00024 7,000
OBI AL EIIK X 244l 1,200,0002 1,200




SA DSHFD
MM H=ERE 8414
Sel: =XNE SN (EUHEASLSES ) (&3
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
OXHIANE 2R X E4H 5,000,0002 5,000
OZTHAIAE S X| £ 2=H] 1,500,000 1,500
OAYAEER X L 4H] 2,000,000 2,000
O2Y =X KAl2el 17,000,000 17,000
OSdH3zF A2 A 700,0002 23] 1,400
GlHIBI(Z=XAESY) 133, 157 7,527 125,630
801 OilHIHI 133,157 7,527 125,630
01 oldidl 133,157 7,527 125,630
Ol 133,157,000 133,157
FUHHESE(FAHASLELSA) 20,000 20,000 0
LHE o =XH& AXIHl X 20,000 20,000 0
402 BIZHR=0|A 20,000 20,000 0
01 It R2E=X 20,000 20,000 0
OUE or=RH & X K| & 20,000,000 20,000
S8F0 HAs=2e 41,050 30,960 10,090
es=2e] 41,050 30,960 10,090
res=2el 25,900 24,560 1,340
201 LEt2HH| 25,900 24,560 1,340
01 AFRZt2/H] 2,500 2,000 500
OXNSI L HAUSH ZHad HAH R
2,500,000& 2,500
02 222%H| 23,400 22,560 840
ORHERZ 15,000, 000 15,000
OXEXNA2 T2 SXB2H|
260,000& * 12& 3,120
OEMAE T2 SXE2H|
220,000 * 12& 2,640
OSmYR T2 AL
220,0008 * 128 2,640
ASXMUEHS 20 L B 13,950 5,200 8,750
201 LErRHH| 3,500 3,000 500
01 AFR22t2IH] 3,500 3,000 500
OXtsx MEHE DXAS M= 2,000,000 2,000
OMEX Btz =X Ha
3,000 * 500 X 1,500
202 O] 1,200 1,200 0
01 2o 1,200 1,200 0
OXSXIHEZ A2=0H] 1,200,000 1,200
405 KHAHE SH 9,250 1,000 8,250
01 ML SEFSH| 9,250 1,000 8,250




SN DEHHD
Mm: 5EN0 HYS=BE
ool Rzs=ne (el @g
M-S (3) - HRAY - BES Aro e =2
OXNENEhE DAAMEE d2Xey & s8I
- 9,250,000& 9,250
SEENE 2N M2 1,200 1,200 0
202 O4Hl 1,200 1,200 0
01 =LHAOYI 1,200 1,200 0
OREEXE NEHH0] 1,200,000& 1,200
HY2LZH (RS D) 97,871 95,331 2,540
A2IH(LSHH D) 4,200 4,200 0
2MeIAE (RS A D 4,200 4,200 0
203 HRF&H| 4,200 4,200 0
04 PN2IHRFE 4,200 4,200 0
ORM2ZHRE=&HI(302/015t)
350,000& = 12& 4,200
[2ZH(nS#HE ) 70,170 67,080 3,090
23H (L SHH D) 70,170 67,080 3,090
201 B3| 20,250 23,400 A 3,150
01 AtE22/Hl 20,250 23,400 A3,150
FA2IAIR 2l 20,250,000& 20,250
202 O4Hl 49,920 43,680 6,240
01 =Yl 49,920 43,680 6,240
O=UWH bl 49,920,000& 49,920
ARG (FUHEALSESH) 18,551 18,551 0
oAt (=HEsE 18,551 18,551 0
101 14| 18,551 18,551 0
03 RIAHA2ZZHE 18,551 18,551 0
OfoIH=o et E 18,551
== 734,800& x1Z+1200 & 8,818
-&0= 8,818,000 %1/3 2,940
AN 2tel =% 6,330« 1H 22 A1 2tx 1200 & 1,672
-FY22H 50, 100& » 1 »2U 1200 & 1,203
-Alsasit=E 33,4003 x1H 15 501
=54 33,4003 x1H «52& 1,737
—Z U= A 80,0003 x1HE <12 & 960
R = u 60,0002 x1H* 1204 = 720
[2ZHI(FUHEALESSIA) 4,950 5,500 2550
JI2ZH(=XESY) 4,950 5,500 AB550
201 B3| 4,950 5,500 AB50
01 AtE222/Hl 4,950 5,500 550
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